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Matching of sets presented in mismatch and match conditions for Experiment 1, and mismatch, match and neutral conditions for Experiment 2
	Experiment 1

	
	Set 1
(n=40)
	Set 2
(n=40)
	Set 1 vs 2

	
	
	
	t-test
	BF

	
	Mean (SD)
	Mean (SD)
	t
	df
	Sig.
	

	Verb lemma freq. (log10)
	3.12 (0.8)
	3.10 (0.8)
	.16
	78
	.88
	0.24

	Imageability
	5.18 (0.8)
	5.10 (0.9)
	.40
	66
	.70
	0.27

	Visual Complexity
	5.19 (4.2)
	5.51 (5.2)
	-.30
	78
	.77
	0.24

	Nr. of phonemes 
	3.38 (0.7)
	3.56 (1.03)
	-.88
	78
	.38
	0.33

	
	Count
	Count
	
	
	
	

	Transitive verbs
	27
	28
	
	
	
	

	Instrumental verbs
	15
	16
	
	
	
	



	Experiment 2

	
	Set 1
(n=24)
	Set 2
(n=24)
	Set 3
(n=24)
	 Set 1 vs 2
	 Set 1 vs 3
	Set 2 vs 3

	
	
	
	
	t-test
	BF
	t-test
	BF
	t-test
	BF

	
	Mean (SD)
	Mean (SD)
	Mean (SD)
	t
	df
	Sig
	
	t
	df
	Sig
	
	t
	df
	Sig
	

	Verb lemma freq. (log10)
	3.10 (0.9)
	3.10 (0.9)
	3.17 (0.7)
	.04
	46
	.97
	0.29
	-.03
	46
	0.74
	0.30
	-.39
	46
	.70
	0.31

	Imageability
	5.31 (0.7)
	5.20 (0.7)
	5.02 (0.9)
	.49
	39
	.63
	0.33
	1.09
	37
	0.28
	0.50
	.69
	38
	.50
	0.37

	Visual Complexity
	4.74 (3.9)
	5.21 (5.1)
	5.40 (5)
	-.36
	46
	.72
	0.30
	-.47
	46
	0.64
	0.31
	-.10
	46
	.92
	0.29

	Nr. of phonemes 
	3.5 (0.8)
	   3.33 (0.8)
	3.6 (1.1)
	.72
	46
	.47
	0.36
	-.45
	46
	0.67
	0.31
	-1.02
	46
	.31
	0.44

	
	Count
	Count
	Count
	
	
	
	
	
	
	
	
	
	
	
	

	Transitive verbs
	16
	16
	16
	
	
	
	
	
	
	
	
	
	
	
	

	Instrumental verbs
	9
	8
	9
	
	
	
	
	
	
	
	
	
	
	
	


BF = Bayes Factor
